STA 4321/5325 – Exam 1 – Spring 2006  

PRINT Name _________________  UFID _________ 

SHOW ALL WORK!!!!!!!!!!!!!!!!!!!!!!!!!

1. The chess club has 12 members. The executive committee will have 3 members. How many ways can the committee be filled if the following information is known? 

a) The first is president, the second is vice president, the third is assistant VP.

b) There are no differences among the jobs.

2. A used car salesman has determined the probability she sells one car in a day is 0.20, and the probability she sells 2 cars in a day is 0.05. Otherwise, she sells no cars. Give the mean, variance, and standard deviation of her daily sales. 

3. A Texas hold ‘em tournament has 36 players entered and 4 tables of 9 seats each. How many ways could the players be assigned to the tables?

4. A contractor has placed bids on 5 jobs. The firm has a probability of .25 of winning bids on individual jobs. If the outcomes are independent, what is the probability the firm will win 4 or more of the bids?

5. In the previous question, if the firm wins 3 or fewer bids, they will make $1000 per contract. If they receive 4 or more bids they will make $600 per contract because they will have to subcontract some of their work. SET-UP the calculations to determine their expected profits (show numbers, not symbols).

6. Derive the mean and standard deviation of the Bernoulli distribution.

7. A factory has 3 machines for producing their product. Machine 1 produces 25% of their output and has a 2% defective rate. Machine 2 produces 20% of their output and has a 5% defective rate. Machine 3 produces the remainder of the output and has a 1% defective rate. What is the factory’s overall defective rate?

8. In the previous question, given that an item is defective, what is the probability it came from machine 1? Machine 2? Machine 3?

